8-20.
 a) 1) The parameter of interest is the true mean yield, (.


     2) H0 : ( = 90      


     3) H1 :  (  ( 90


     4) ( = 0.05


     5)

  


     6) Reject H0 if z0  < (z (/2   where (z0.025 = (1.96 or  z0 > z(/2   where z0.025 = 1.96


     7) 

,  ( = 3





    8) Since (1.96 < 0.36 < 1.96 do not reject H0 and conclude the yield is not significantly different from 
 
        90% at ( = 0.05. 


b) P-value = 2[1



c) n = 



    n ( 5.


d)



       = ((1.96 + (1.491) ( (((1.96 +  (1.491) 


       = ((0.47) ( (((3.45) 


       = ((0.47) ( (1 ( ((3.45))


       = 0.68082 ( ( 1 ( 0.99972)


       = 0.68054.


e) For  ( = 0.05, z(/2 = z0.025 = 1.96


    



    



     87.85 ( ( ( 93.11


    With 95% confidence, we believe the true mean yield of the chemical process is between 87.85% and 
  
    93.11%.
8-23.
a) 1) The parameter of interest is the true mean bulb life, (.


    2) H0 : ( = 1000      


    3) H1 : (  ( 1000


    4) ( = 0.05


    5)



    6) Reject H0 if z0 > z( where z0.05 = 1.65


    7)

= 1014,  ( = 25









    8) Since 2.504 > 1.65, reject the null hypothesis and conclude there is sufficient evidence to support the 
 
        claim the bulb life exceeds 1000 hrs at ( = 0.05.


b) P-value = P(Z > 2.504) = 1 ( P(Z ( 2.504) = 1 (

(2.504) = 0.99461 = 0.00539.


c) ( =

= ((1.65 + (8.9445) = (((7.30) = 0


d) n =



    n  ( 9.


e) For ( = 0.05, z(/2 = z0.025 = 1.96


    



    



    1003 ( ( ( 1025


    With 95% confidence, we believe the true mean bulb life is between 1003 hrs and 1025 hrs.


f) 



    



     1005 ( (

    With 95% confidence, the true mean bulb life is at least 1005 hrs.


8-25. 
z(/2 = z0.025 = 1.96 ,    E = 5 
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Third edition:

9-21.
 a) 1) The parameter of interest is the true mean yield, (.


     2) H0 : ( = 90      


     3) H1 :  (  ( 90


     4) ( = 0.05


     5)

  


     6) Reject H0 if z0  < (z (/2   where (z0.025 = (1.96 or  z0 > z(/2   where z0.025 = 1.96


     7) 

,  ( = 3
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    8) Since (1.96 < 0.36 < 1.96 do not reject H0 and conclude the yield is not significantly different from 
 
        90% at ( = 0.05. 


b) P-value = 2[1



c) n = 
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    n ( 5.

d)



       = ((1.96 + (1.491) ( (((1.96 +  (1.491) 


       = ((0.47) ( (((3.45) 


       = ((0.47) ( (1 ( ((3.45))


       = 0.68082 ( ( 1 ( 0.99972)


       = 0.68054.

e) For  ( = 0.05, z(/2 = z0.025 = 1.96


    



    



     87.85 ( ( ( 93.11


    With 95% confidence, we believe the true mean yield of the chemical process is between 87.85% and 
  
    93.11%.
9-24
a.) 1) The parameter of interest is the true mean water temperature, (.


     2) H0 : ( = 40      


     3) H1 :  (  > 40


     4) ( = 0.05


     5)

  


     6) Reject H0 if   z0 > z(   where z0.05 = 1.65


     7) 
[image: image4.wmf]5

.

40

=

x

,  ( = 1.25


[image: image5.wmf]26

.

1

10

/

25

.

1

40

5

.

40

0

=

-

=

z


8) Since 1.26 < 1.65 do not reject H0 and conclude the water temperature is not significantly different greater than 100 at ( = 0.05. 


b) P-value = 
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c)
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       = ((1.65 + (5.06) 


       = ((-3.41)  


       (0

d.) 
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              e) For ( = 0.05, z(/2 = z0.025 = 1.96
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f) 95% Confidence Interval
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 EMBED Equation.2  

PROBLEM A. 
z(/2 = z0.025 = 1.96 ,    E = 0.8
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